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NEW

Part-II1 3-Tier
2017
ECONOMICS
{(General)

PAPER—IV

{ First Half ) |
F‘ull Marks : 45
Time : 2 Hours
The figures in the margin indicate full mark,s:1

Candidates are required to give their answers in their

own words as far as practicable.
’ |

Nllustrate the questions wherever necessary.

Group—A
Answer any five questions : ' 5x2
1. (a) What is rural industrialization ? ' 2

{b) What are the sources of rural credit in India? 2



(cj What is decentralized planning ? 2

(d) Mention few dualities that prevail in our rural

economy. 2
(e} What is primary data ? 2

(f) Define with examples discrete and continuous

variables, ‘ 2

{(g) What do you understand by ‘Variance’? 2

(h) What do you mean by bar diagram ? 2
Group—B

Answer any three questions : 3X5

2. Discuss the main features of rural economy in a country

like ours. S

3. Discuss the importance of agriculture in rural

development process, 5

4. Give the full form of NABARD. What are the main
functions of NABARD ? . 1+4
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5.

10.

Discuss various steps taken in the preparation of a

project. ; 5

What are the advantages and disadvantages of| sample

survey as a method of collection of data. | 5

: . . \
Determine the correlation coefficient between x and y

from the following data : ! 5
x: 05 07 09 11 13 15 |
¥y 1.7 2.4 2.8 3.4 3.7 4.4
Group—C '
|

Answer any fwo questions : 2x10
|

Describe the three-tier strcture of Panchayati Raj.
Discuss the advantages and disadvantages of Pahchayati
Raj in the process of rural development. | 4+6
i
Evaluate MGNREGA briefly. Propose few steps to %ncrease
income of the rural people. 7+3

What is Pie-Chart ? Draw a Pie Chart for the following
table which show number of athletes participated

exclusively in any one of the given events. 3+7



11.

Name of Event Number of athlete participated

Sprint 200
High Jump 100
Long Jump 150

Triple Jump 75
Hammer Throw . 75
Total 600

{a) What are the different measures of central tendency ?
5

(b} Calculate the arithmetic mean from the following

data : 5
Class Interval : 50-59 60-69 70-79 80-89
Frequency : 14 38 44 54

Class Interval : 90-99 100-109 110-119

Frequency : 45 30 25
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